CHEM 2300 Exam 3 Review Solution

1. Name/Draw the following molecules.
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2. How would we turn 1-hexanol into hexanal? Would the reagent be different if we wanted
to turn 1-hexanol into hexanoic acid, if so what would it be?
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3. Draw the mechanism for the following reactions. Label which is the hemiketal and which
is the ketal. What is this reaction used for? How could we reverse this reaction?
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4. Give the major product(s) for the following reactions.
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5. Draw the mechanism for the following reaction. What would happen if we added heat?
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7. How could we synthesize phenol starting with benzene? Give a reaction scheme.
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8. Which compound is more basic and why?
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9. Given the IR, H-NMR, and molecular formula of CsHzO, draw the compound they
represent. The integration is 1.9: 2H, 3.7: 3H, 5.9: 1H, and 7: 1H.
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